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6 LYt €N 1o | TR (RN O O

;0L (adalall ol e a S(x) =0 alslall yaot 229,20 2\._..*.:_).._:.)1_4.:3;,.‘5 X, ol Luo,d 1l

Ol @l 5 (el nila (o @540 (lSag it gl A0 Aesdd! Lo

Jssosld pasis it (iterative formula) 1, disws O 1

o iagpllall Histl I ;O iy « (6) Astati 2 (1) Wolall e /1 2eud (iasgaing

B..::.:.B-U'-A.A._«.:ﬂ|u.£ M‘L_A}l—d)}bumg‘mbg Lub
_ J(xp) i s
................................. * TN ) :v.lf|°=’ ¢ X, .ﬁjﬂlhﬁ@\}.&.@"\”ﬁ',\q.a

l.‘
f(a)= f(x,)+hf"(x,)+ {T_l"(;') ................. (2)

4]

Xy 9 @ (nhesdl) (no dadlgdeid: § S

0 atalall josd 228001 dauall slow) pdalind adalall ol (e

B PRI T 3 PYPOON : old f(x)=0 U.\Laﬂ).'.\.'.ﬂu._éé@g_‘b a Ol Gug

{127 3 P — s T (3)



et —

B
= q—

S v — -

—:.-'-4

A0l Adslad) ;.‘Al“.;'.)&;‘..,l;;vy.l';.u.;,;‘.i_;/h;‘_;...‘ : ..;-:J\:u

Example:- Using the N-R method to find a root in

(D[o,1] for fix)=x*—x*+2xr—1=0 ,e=0

@I[1.2] for fix)xe* +x*—5 =0 ,€= 0.003 g E b U R S e _%

(3[-2.-1] for fix)=2x-tanx+1=0 €= 0.001 - x=g(x) saclall dadill 4 51 Sl 455 ylall Adladl Aaseall Adaada 2ic
X =——=15 ol s Ll Ahil sl LS ) gasdl 3 5 Lisaa (i

Dx,==2-=05 f(xo) = 3973 o - f(xo0)

f)=x3—x2+2x—1 =>f(x)=/(05)=0125-025+1-1 f'(x,) = 14.204 " fe)

=—0.125 fxy) b g’ (x)[<1 o saclall dlaiill 4, ) sl 43y pall oo el oyl ) Lagy
" 2 ' ’rm _ - X, =X, 122 )
flx)=3x"-2x+2 =>f'{x) = f(05)=075—-1+2= 17§ O f(x) g0 =1— Fr(xo)f'(x0) = F(x0)f" (x0)
['(x)=6x-2 == f"(2q) = f"(0.5) =3.063 =1 Xy —Xo| =122 -15| =028 >¢ f'(x0)?
2 2 "
Iff-‘ujf”{xn}l ((=0.125)(1)] _ |—0.125) fxy) _ (f("‘o)) = (f(xo)) + f (x0) f (xo) L f(xo)f" (x0)
== | = ———— | = |——|=0041 <1 Xy = Xy — === 1158 - (x))? ~ f'(%0)?
e |71 175 |~ [ 3083 | : ) (f'(x0)) 0
oy SO0 dodtm -1 015 |, = x| = [1.158 - 1.22| = 0.062 > ¢ i e (A yl o3¢) o S Iy S5
T ) Y 3xp -2 +2 175 f(x) o
' X3 =X; = =—==1155
flxy) -, 0002 - = fxy)
IE_J.'-_—JF.I(Ij_n.ﬁil—m_ﬂ.ﬁfﬂ x
! - |3 — x| = |1.155 — 1.158| = 0.003 < €, x; is the root
t=x -2 o570 2 _os70 @ > 0 sull gl il s (gl g Ay o plasidy -2
P 5 — e —_—— . > ) el el pMadlaa 3 e AL e aldal o)
3 2 f{.ll} 1835 gF¥ ) IS 00 Jap (¥

sy — x| = 0570 - 0570 =0=€ =>x,=0570isaroot

f(x) = xe* + x* - 5,[1,2],¢ = 0.003

i

My =2_15 x=YVa
wast Ay - .-

x"=aq
f(x)=xe* +x* -5 => f(1.5) =3973

f(x)=x"-a

fllx)=xe™+e% + 2x f{1.5) = 14204

f"(15) = 17.686

f'(x) =xe*+e* +e*+2=xe*+2e*+2

f'(x) =nx"?

oM

[(3.973)(17.686)) | 70.266 | 0348 < 1 o x! .,.(;

[ 142042 |7 lzoLn7s4]l ~ 7 nx;
(x 3.973

n= n_” "]_1_— = 1.220

fieg) - 14204

Fx) 1
S L L T = 1158
=N TERY 9059

Fla) 0.028
y=x, - g 95g 2UE0 g 4sg
LT e 9166

& |xg — xz| = [1.155 — 1.158| = 0.003 =€ => x3 = 1.155isaroot

O g 3-8 933 A Hha ol 81 Ly \

Sl JiaTs ) gl - (55 98 32 sha s )




e e

«( Newton-Raphson method )Joswdly —(590 ddaylo pluasdiaubs (7) gl
A yaY ) Aauddl O Cades 131 COS(2X) — X = 0 Atalall yas ao gl
X, =0.6 18 Hadl lag!

raJalall old (ye Jandt

f(x)=cos(2x)—x

- 13 =2.9361703

f'(x) =-2sin(2x) -1

R, e oxF08) 5 021703 12376836 ) yieoe
o 1% | 24 BH328R

cos(2x,) —x,
'\./wl = "‘n + . T >3
2sin(2x,) +1

:_'é dltli_‘

= il 1

x, = 1.4383748

x, =0.6
G s _am ARl = -
¢ o 4 SE2) ~E g, CONEXD0)=D0 _ 451903
Y 2sin(2x,) +1 25in(2x0.6) +1
vocl(?x - -0s(2x0.517 -0.51703 *
o L Cos2X) =X _ 517034 Lo.s(.."\()“ ] ,03)_70431 03 _ 0.51493
P 2sin(2x,) +1 25in(2x0.51703) +1
cos(2x,)-x, 508(2x0.51493) —
% =, $ o) <K gy, COROMOSIA0) 051493 _ 0 io0s

2sin(2x,) +1 2sin(2x0.51493) +1

o3kl Aasall ) )S juanlt A8A)) dadll e Jguasnd! @3 43 das

« Newton-Raphson’s method) {sudly —(y3ses adsyle alasiuls :(5) Jtue




e 7 - (Iterative method) As ) ,Sal) 45 jdal) _-ladl gy \

flx,¥) = x + 3logx — y* = 0 Y slaall daplaial ; fn sg d o1 S50 day plo alod iy -zl Sam ol s Skl ASAY sy = G(x, V) 3% — F(x, V) Sfkeal LN Sulia i Lisas Lile

£=2[3525] Laliegly)=2x—xy—5x+1=0 s : )

0.002 |+ I32] <1 & |5] + I55] -

- — - F{x;,v:)
rt+ilogx—y =y=,/x+3ogr = O(x.¥)

xf—axy—-Sr+l=x=— JX¥ +5x —1=Fix,¥)
w2

aF v+ 5 aF X "(x, V) 2 25 = 0 Y Aad 1. glind Ja 2

X 22 xy+5c—1 O 22 ay+5x—1 B s g(x,7) = 2~y

L3 .
aG 1+ 2 aG

ax 2. x + 3logx gy

aF '

=0589+041 =1
r:i'.1| dx
aF a'G 0.37 +0 < 1
ayl eyl =R TES

1 pr———
£ S Vidi = v e ¥+ 30gx;44

= v X + 5%

= 3.553 y, = 2.281 oF) 1961 _ 4.

ay ay v23

3.526 vy = 2,273
3,510 ¥y = 2.268
+ = 3.501 ) 2.266
|y — ¥al = 0,002 = ¢

The solution 15 (3.501, 2 266)
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